7

__

//

o

.

%

7%

A
7

F.Y. Reg. NO. ciuerurerensseasescescis Tassssnenens 1 R 0
March 2015 ' ’ 119

NAME eveeeefoveers wrvecsssnssnsisanesnaess
o . .
‘ Lo Part - ITI
‘.- COMPUTER SCIENCE
' Maximum : 60 Scores . o

. , Time : 2 Hours

’ ~ Cool off time : 15 Minutes
v /General Instructions to Candzdates _ R \ ,
® There is a 'Cool off time' of 15 minutes in addition to the writing time of -
2 hrs.

'@ You are neither allowed to wr1te your answers nor to dlscuss anything

~ with others during the 'cool off time'". : ;

®  Use the 'cool off time' to get familiar with questions and to plan vour
aNSwWers. ' :

e Read the questions aéareful}y before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub questions must be answered from
the same question itseif.

Calculations, figures and graphs should be shown in the answer sheet 1tself
Malayalam version of the questions is also provided.

Give equations wherever necessary.

e e o ®

Electronic devices except nonprogrammable calculators are not allowed
- in the Examination Hall. '
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1.

2.

Write the number that is
represented in the following .
Abacus. '

"a) What do you mean by cache
memory?

b) Write the names of the
figures given below.

Eem o
Geor I

H sopAwvE N

Some of the components in the
phas»es of programming are
given below. Write them in order

- of their occurrence.

a) Translation
b) Documentation
¢) Problem identification

d) Coding of a program

2} T statement takes the
program control out of the
loop even though the test
expression is true.

b) Consider the following code
. fragment. How many times
will the character '*' be
printed on the screen?
for(i=0 ; i< 10; i=i+2) ;
( :
cout<<"*";

}

K-16
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, B) ®O6Y

T 0Oy 'mcebosgmmﬂvm'l@@ym
coaleqsiomlwlal

£OIM VOB )Py,

a) ayoadl eaond (cache memory)
agymm} 068 et agamoeny’
HBGUIlHOMNE?

b) moey 605001 @166 0N
ofl@em® yaslenis. QIS

Bal@B(d af) Py,

e@o{c&bm’lsm’lm«}; cpigemgloal oflel
BOWETBWR ®OOY OISO L0,

@OAIWIOS (BT MEREIeS

(GO ag) eI,

a) Translation >

b) Documentation

¢) Problem identification. .

d)’ Coding of a program \ -

a) &} eyallesl asqy ag@miadauad

T (0] @ROEMEBIENO ... BERENDTE

Glao(D00 BEMESoslam enaflong
aOBEMRE MQBHLTN. '
Cado@ym code
alewolajodd ag® '*' screen-
© @ print eaige?
for(i=0 ; i< 10; i=i+2) ;
{

cout<< H‘kli;
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[+ 2]

The function which calls itself is
called a .............

Any device which is directly
connected to a network is
generally known as ...........

Fill in the blanks :

) (0.625), = (o,
b) (380),, = (i Do,
Q) (437), = (e ),

Defihe the term, debugging.

Write the names of two phases

that are included in debugging.

OR

" Define the different types of
“errors that are encountered

during the compilation and

running of a program.

Briefly write the major changes.

in the technology during the
different

computers.

generations  of

Mention the purpose of tokens
in C++. Write names of any four
tokens in C++.

K-16

1)

(1)
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10.

. B0

sriawlafleeym

80) anedou@ (function ) ap.
function em @em llglenswonsm

wld @pemao function -meeies

8ol alOWiks.

ampudsnmowl  emaelg

DaldhOMEBOS
NI} oY alur) NS gy} O,

allgy ealowar alidlaflee.
a) (0.62_5)10 T )y
b) (380),, =

H
N
N

-
&

c) (437),

il
o~
~

o

adlenigller’ agyom al@o, midLfeee.

' nm"iemcglm“ wlelould 9Beq|gladl

EOMN O6TE CRISEBH alOW)d:.

coegElad

. 80} Glaloindo compile ealguemioge

Run 'amggemésﬁgo EHOEMIQUOMD

MoWIBWIRE  OBFIHESHH0Ta]’

ol allee)s,.

: 50600 '(&e;é)goc&gflag,o HMUYSOBR B

VOB RoET QLM HOMAIDW

@0ge 2rannionll af)Pimid:.

ES0806rM ag)M alBo 0ens C++ @

ag)moem  9eauwlanM@ agom

-yafloflens? egomsslege moel

BSOBOEMIEHRINS BalODLI®)Bs.
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11.

12,

13.

14.

Raju wants to add value 1 to the
variable 'p' and store the new
value in 'p' itself. Write four
different statements in C-F+ to
do the task.

Read the following C++
statement : '

int MAT[5][4];

‘a) How many bytes Will be

allocated.foi" this array?

b) Suppose MAT[4][4] is a 2D
array that contains” the
elements of a scjuare matrix.
Write C++‘statemenfcs to find
the sum of all the elements
in the array.

H4SLIWVE: N

Read the following code :

char sfr[BO];

cin>>str;

cout<<str;

"If we give the input "Green
Computing”, we get the output

"Green". Why is-it so? How can

you correct that?

a)’ Define Intranet.

b) Write the structure of an
e-mail address.

K-16

(1)

(2)

(2)

ey

)

11.

12

p' Q@(TDV(B(U(O']@)GT}_HU% (variable) @
0Bajotd peg aflaiewosy &l 1 agym

afler @ygl 'p' ogyom variable @t meom

Bl OIOM D8-) @BINASTIESIM.
C++ @ eooimy mowymow moel
GAREOAMDIRD af)Li®)bs.

anales @soemym C++ egugoad

- U0l dn.

int MAT[5][4];

13.

14,

a) ®7 eOWEs of)@ eemig

om0l tilesianiwsae?

b) MAT[4][4] agemn 2D aweoxidd
W @wd  easlamlae
“9eememMIclenes.

804
T Mo EWD

ao®leal afL0 afeieon@idne)

DSWI0 @) BoemMEiaes C++
" GEEORREORPIE) .

@IOY lOQIM gzode ORI B0,
char str[30];

cin>>étr;

cout<<str;

"Green Computing", agom input
odosemeaiod "Green",. agyemosny
outijut 91@192@“. ag)omoen sy
006Mo? EOMEBOM alBlan@le600.

'

a) Intranet agomosm’ agom’

—_aidcuafesid.

b)) ey e-mail @owmileq caism

YSITES
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15.

16.

17.

function

" the
prototypes for the following

Construct

functions.

a) The function Display( )
accepts one argument of typé
double and does not return

~any value.

b) Total( ) accepts two

arguments of type int,float

respectively and returns a

float type value.

What do you mean by universal

‘gates? Which gates are called

universal gates? Draw their .

(3)

symbols.
OR.
Construct a logical circuit fqr

the Boolean

@.b+a.b. Also write the truth .

table.

Draw .a flow chart to input. ten

different numbers and find their

average.

K-16

expression

(2)

@)

15.

®060¢ alo@yan function e

@pQIymO® function prototypes

- 0g)eIONE.

16

17

a) Display( ) agom function
double type-&b. pss afe
mflesdlenimy. agomod WO}

afleiye asss @wesTg).

b) Total( ) agym function int,

float  ago type-dd oag

afleisid mflealemswie float

typeb-co% 988 afle momo ases

BOQIBEIBHQ 0 am@&m&

@gerh?c;m@”mro% BNRIBB ag)Mmoad
@moem”? o@mmggo& ol r-Notto
wmleusm@  engish  agm
@eolwsiajsym”? ®UIWIOS

2N@EBR QIosew:.
LD A

a.b+a.b  ogm Gmgg'lco)cﬁs

) B Mlatayo R . ec10e) e mdsays

mmmﬂe&g&:. soaflecd truth table po

Q) eI 1.

e

- O QYEI® qUosU§H R Ma g’

62JQIAIOMIe BROUUWIOS AW

| dnslallslenimaimio saleelwies

flow chart cleseue. -
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18.

19.

20.

21.

K-16

Métch the following : (8) | 18. soimpcals] goidoes.
Name Symbol
a)  Modulus operator = -, 1) ++
- b)  Logical operator (|, 11) ==
c) - Relational operator iii) =
d)  Assignment operator =, 1v) 2:
e) ‘Ir‘lcrement operator V) &&
f) Conditional operator vi) %
Write the names of two. 18, Array oles asney search method
searching methods in arrays. SR a@O@RJOR0EM? HCLOW BOBMAY0
Prepare a chart that shows the ORI 8O 0BT HWOOILE)S:.
comparisons of two searching »
methods. ' 3)
Name the dif’férent methods 20 @0y function caes cu']_éueﬂfz&
used for passing arguments to a @O BNRMBIMBs  20dPEBRLOS
function. Write the difference Eal@D af) PO, @RQs @orlenss
between them with examples.  (3) QY@ HEIAOEM MACOWEMDONS
HSSWE-IN allweaosnie. '
a) To make data transfer faster, - 21. .a)/ woo (somavallaudd eRIMm@OR
a switch stores two different ' mMm®oeeom  qufla)l @oomaow]
addresses of all the devices i sndcrwlaflaficlenyom ag)g0
~connected to it. What are WOHAUIH 8BS W0 @ensy
they? (1) QU@ aU'ey @D (W) TV e D
, ‘ AIBOIOMY. @O RO ?
b) There are 5 computers in ' o :
. . . b) mlemgies computer lab @ 5
your computer lab. Write - or A :
o : 6 ter g, OIOW
short notes on any three computer & g 2
. ' aloUaloo connect eaiod
possible methods  to .
. : ‘ MoWIno® . My  Joled
interconnect these .
: ‘ alimemsid quadlmo aleanaio@l
computers.- Draw- the :
- . Qg)F L bs.
diagram of each method. (3) :
6.

119
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22.

23.

24.

‘Social media plays an important

role in today's life. Write notes
supporting and opposing its

impacts.

Explain how e-waste creates
environmental
problems. What are the different
methods for e-waste disposal?
Which one is the most effective

in your point of view? Why?

Write a program to do the

following : ‘
a) Inputs the values for
variables n and m. '
b) Prints the numbers between
1 and n which are exactly
divisible by m.
¢) Checks whether the numbers
divisible by m are odd or
_even.
OR
Write a program using nested
loop that inputs a number n
which generates an output as
follows. :

‘Hint : if the value of n is 5,' the

output will be as

25
256 16
25 16 9

25 16 9 4
25 16 9 4 1

and health™

3)

(5)

(5)

22.

23.

24.

DMOoD BoeieaIgamd Social

media @S, a®  QIgOD
(iwomeggmoen. Social media ew
oM ellalio (alolegellallo oidlal

DLOOILEE.

D-6aigy asndimdlale (eirmasgo
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@ERO) (IUBMEBEIo MV jadistenyma

agememean  allwEle:clee) 6.
@-calqy
eaigmM@lmag moel nddyasd
BODOOBOWOEN ? OB aBRI0
a8l IBROWEME? af)TIEB:06ME.

DHOOY alOWIaN &0y ETBMRD

mdomodmemmo

(5)

O21QIMEIMBs Program af)Pimis. .

a) n e@wp m e allel input

021},
b) 1 mp n mp osold m eeoens
m;&,%mo@’l ‘
Moalydstd print eoigus.

an @O

C) m  OHIME  anEleeoMM
moslyed odd @peemo even
®YBEMI agMy al@lEUroUSlee)]H:.

a6 gyl

. n ogam variable o afla input

©21Q)EMIRB ®OY alow el
output &lgym program nested

 100p ©ICWOUSIOLIPIBIH.

Hint : n agm variable o 5 agom
afler input eaiguemiod &lgum 5

- elegles output @pem ®oew

B0 O LN,
25
25 . 16

25 16 9

25 16 9 4
25 16 9 4 1

K16
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